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QUESTION BOOKLET

This question paper contains 170 questions. / 38 Y9 § 170 I3 7 |
All questions are compulsory. / T I3 31f4ard & |
One question carries half mark only. / T 937 o feTu shaet 14T 37 2 |

Maximum Marks : 85 JAferhad 37 : 85
Time : 2 Hours uy : 2 9o
1.  Harappan weapons were made of

(A) bronze (B) stone (C) copper (D) None of these

Feufiy g feraer a9 9 ?

(A) T (B) e (C) e (D) ¥ & % Tl

The famous grammarian Panini hailed from which of the following
mahajanpads ?

(A) Gandhara (B) Kamboja (C) Vatsa (D) Avanti
T8GRl TTivTH = & & forg TaTeae o femedt 9 2

(A) YR (B) HHEN (C) ocH (D) JFaf=
The concept of Anuvrata was advocated by

(A) Mahayana Buddhism (B) Hinayana Buddhism

(C) Jainism (D) None of these

V[T hl TehedHT Shi AehleTd Teoheeh g i 78 off ?
(A) WERM g o (B) EAMdlg & (C) S oW (D) ¥ & 1S e

Which rock edict of Ashoka provides a description of the horrors of Kalinga
war ?

(A) 10" Rock Edict (B) 13% Rock Edict

(C) The Edict at Dhauli (D) The Edict at Jaugada
373M1h 1 ShiF A1 RreTTerd et Ig 1 fasfiftent w1 faawr ygm war g 7
(A) <gal FSreTerg (B) et Rreter@

(C) et =1 RreTTer™ (D) SiTE 1 fSretTerg

Who among the following took the title of Vikramaditya ?

(A) Chandragupta-I (B) Chandragupta-II

(C) Samudragupta (D) Skandagupta

e 7 9 fore TosruTiced shi 3Ty 9T <At ?
(A) s=mE-1 - (B) =I=mE-1 (C) ¥ (D) &h<TH
Who among the following is credited with the invention of Algebra ?

(A) Aryabhatta (B) Bhaskara  (C) Apastamba (D) None of these
SSTToTd <l @IS o1 29 T o 9 ford T S & 2

(A) ImR9g (B) HrER (C) 3TuEars (D) 3 9 &S &l
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7.  In early medieval India, what did the term Jital refers to ?

(A) Weight (B) Diet (C) Coin (D) Game
TEThIci WA 4 Ue “Toraer’ & @ gefila o ?
(A) o= (B) B¢ (C) fa=m (D) &«
8.  Which of the following Chalukyan city is known as the city of temples ?
(A) Pattadakal (B) Badami (C) Aihole (D) Kanheri

e | I |1 e TR Al 1 R o €9 H I A 8 7
(A) TE=Hd  (B) wqEf (€) W (D) ==

9.  Malik Kafur was whose general ?

(A) Balban (B) Firoz Shah Tughlaq
(C) Iltutmish (D) None of these
AfcTeh ShTh fehEehT TATAM AT ?

(A) T (B) Frdre ger
(C) egafm (D) ¥ & HE T

10. Which of the following musical instruments was not composite or Indo-
Islamic in origin ?
(A) Sitar (B) Tabla (C) Sarangi (D) Shehnai
11 4 9 o o wfia 9T S 3YET o H SUSl-SealtHeh el AT ?
(A) Taar (B) el (C) =Tt (D) &g

11. Bhakta Tukaram was a contemporary of the Mughal emperor

(A) Aurangzeb (B) Shahjahan (C) Babar (D) Jahangir
HTh denXiH |°|'>H qll -‘%Ichh% R EAGIE] 9} 7 .
(A) ST (B) mEsTEl (C) TR (D) SEFR

12. Kumarasambhava, an epic poem, was composed by
(A) Kalidasa (B) Harlsen (C) ChandBardai (D) Banabhatta
PHNHFI, Ueh HalhlcH |°|')H°|') alll {ITJCI a1 7

(A) wiferd  (B) gRed (C) w<sigE (D) Smwg

13.  Who was the successor of Shivaji ?
(A) Ramaraja  (B) Sahull (C) Sambhaji (D) None of these
T ITUTURRT IF AT 7

(A) TR (B) wmg-II (C) |rTSit (D) 3H € IS &l
14. Which one of the following was the first fort constructed by the British in

India ?
(A) Fort William (B) Fort St. George
(C) Fort St. David (D) Fort St. Angelo

Wﬁaﬁﬁﬁ‘g{mﬁﬁaqaml Fepe HHﬁﬁehH’GlT?ﬂ?
(A) & faferm  (B) BRI N (C) B o= sfag (D) ®IE 8= ufset
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15.

16.

17.

18.

19.

20.

21.

Who was the first Governor General of India ?

(A) William Bentick (B) Robert Clive
(C) Warren Hastings (D) Lord Canning
YA T TH T S i AT 7

(A) TafermafRs(B) U w@mga  (C) IR (D) «fe ST
The last major of British Indian territory took place during the time of
(A) Lord Dufferin (B) Lord Curzon

(C) Lord Lytton (D) Lord Dalhousie

foreen Tm o QI fsifeeT WRe ™ & <1 atf= A o 2

(A) AESHE (B) diedod (C) diefaed (D) «fS szt

Where was the Theosophical society founded in 1875 ?

(A) USA (B) UK (C) USSR (D) India
1875 B foraitheher HIETEE! shl TATHHT et g8 off ?

(A) WL (B) I (C) J.TH.TH.3R. (D) WRd
‘Diarchy’ was first introduced in India under

(A) Morley — Minto Reforms (B) Montford Reforms

(C) Simon Commission Plan (D) Government of India Act, 1935
Rd | ‘58 A’ Ugelt IR fehereh 37¢fi ot i

(A) Hici-fieer gam (B) HICHIE IR

(C) HTSH U AT (D) YRd TR Afaf=m, 1935
Who was the founder of the Indian Association ?

(A) Dadabhai Naoroji (B) Bal Gangadhar Tilak
(C) A.O.Hume (D) S.N. Banerjee

3UST THITUTIA <l HETTh i AT ? .

(A) TR TR (B) T TR foereh

(C) T.3l. gH (D) TH.TH. Sl

Who among the following first used the word ‘Swarajya’ ?

(A) Raja Rammohan Roy (B) Bal Gangadhar Tilak
(C) Mahatma Gandhi (D) Swami Vivekanand

(e o feoher Tl T8l TSy’ 2sg <Rl T fohaAT 7

(A) TS T9HIEA T (B) Tt TTTER fereteh

(C) H&TeHT TRt (D) @it faeerr=<

Which one of the following ashrams was not set up by Gandhi ?
(A) Phoenix Ashram (B) Tolstoy Farm

(C) Sevagram (D) Gandhi Ashram

1 st 1 @ o w1 e e} g wnfa TEf R
(A) WINEE 33 (B) dewe@ ®M  (C) Hamwmd (D) et e
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22.  Who authored the book ‘Hind Swaraj’ ?

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi
(C) Gopal Krishna Gokhale (D) M.G. Ranade
‘T T qraeh ferereh g fordt 8 7
(A) ST TR foeteh (B) H&TeHT el
(C) TIHTEA o0l el (D) TH.S. T
23. The leader of the Bardoli Satyagraha (1928) was
(A) Mahatma Gandhi (B) Mahadev Desai
(C) Sardar Vallabhbhai Patel (D) None of these
TSI Tl (1928) o1 AT i T ?
(A) weTe e (B) HEIed <O
(C) HER FeetoHTg Ut (D) T ¥ i3 &l
24. The All India Muslim League was formed in 1906 at
(A) Aligarh (B) Dacca (C) Lucknow (D) Lahore
1906 ¥ ATe 3o gieem ofim 6t o hal g3 ot 7
(A) 3TeTTE (B) @I (C) &S (D) WRER

25. The Indian National Army (INA) came into existence in 1943 in
(A) Japan (B) Burma (C) Singapore (D) Malaya
3G fag wIe (INA) 1943 T 31feded 1 318
(A) STUEH (B) smiH (C) fampd (D) HARTH

26. Who was the Defence Minister of India during the Indo — China war of 1962 ?

(A) R.N. Thapar (B) Jagjivan Ram

(C) V.K. Krishna Menon (D) Govind Vallabh Pant
1962 o ARA—=H g o QI YRd o W& 5 HH & 7

(A) I, YT (B) SISitaH UH

(C) .. FHoM B (D) e geaty Ud

27. Jain temple of Mt. Abu is made of
(A) Granite (B) Limestone (C) Sandstone (D) Marble
HISUE 3T T S HieL ST &
(A) IR (B) @AEHA® (C) Qg=Hd (D) ARIAH

28. The Queen of Himalayas is
(A) Dhaulagiri (B) Kanchenjunga (C) Nanda Devi (D) K-2
fewrera 61 T 2
(A) &ernfiit  (B) aenm (C) F=reet (D) K-2
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29.

30.

31.

32.

33.

34.

3S.

36.

Burhanpur Gap is situated in

(A) Vindhya Range (B) Satpura Range

(C) Aravalli Range (D) None of these
o1 FFafRd 3

(A) Taer udaaren § (B) HageT qdquTel §

(C) Iac! yeaaret § (D) ¥ ¥ IS &l

Which of the following is the largest river of Peninsular India ?
(A) Godavari  (B) Krishna (C) Mahanadi (D) Cauvery
et 3 & B = g wia 6 T §d A R 7

(A) e (B) Fom (C) wEme (D) el
Which of the following states leads in the production of Sal in India ?
(A) Bihar (B) Madhya Pradesh

(C) Odisha . (D) Andhra Pradesh
TRd U 9T o 3dTed H vl s T g g sha |1 2 ?

(A) faEr (B) U TN (C) anfsam (D) 3T T

The largest reserve of coal in India occurs in the

(A) Narmada Basin (B) Damodar Basin

(C) Godavari Basin (D) Cauvery Basin

T H 999 <1 bl e gl 9= Jdr g 7

(A) e Sfe o (B) <M sfe |

(C) gt afee & (D) I S T

Which of the following is least irrigated state in India ?

(A) Uttar Pradesh (B) Punjab (C) Haryana (D) Mizoram

Er=Reke] cﬁdmmmﬁe@w eI RS
(A) SIS  (B) WE (C) =i (D) form

The largest wheat producing state of India is

(A) Maharashtra (B) Uttar Pradesh (C) Punjab (D) Haryana
WA T HaT(Yeh g Sca16eh U & .
(A) WEWY (B) IW¥W  (C) WNHE (D) sf@mn

The largest petro-chemical complex in India was established by Union
Carbide at

(A) Trombay (B) Vadodara (C) Bijapur (D) None of these
I HraTse gRI RA § Ged ST U -TaR—E 9% o1
(A) g (B) Wi (C) Mg (D) & & % Tl
NALCO has set up an integrated aluminium complex in
(A) Madhya Pradesh (B) Chhattisgarh
(C) Rajasthan (D) Odisha
A (NALCO) 3 v treafirfrny depet i forem 2
(A) AE Y™ (B) ®UETE (C) TSEU™ (D) anfeam
7 Code No. : C-441/2018/Series-A
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37. Black soil in India is associated with

(A) Basalt (B) Granite (C) Limestone (D) Sandstone
WA ¥ et g} forea arafa @ 7

(A) =ETE (B) IIse (C) =HI-UeR (D) SeI3-Yee
38. Agar-agar is obtained from

(A) grass (B) fish (C) sea-weed (D) bark of tree
UR-UR fohe® YT glaT & ?
(A) ¥F (B) HSaA! (C) wggisEa (D) Ue &l B

39. Which of the following is not a navigable river ?
(A) Brahmaputra(B) Godavari  (C) Narmada (D) Chenab
fadasn @AM T & g ?

(A) ST&IgA (B) e (C) e (D) o=
40. Which of the following fibres is often called the golden Fibre of India ?

(A) Sisal (B) Hemp (C) Cotton (D) Jute

71 T 9 ShIF 91 BISeR T YA 1 Mo BI3eR HEaTdl & 7

(A) Fwe (B) &™ (C) hied (D)
41. Which state has the highest number of illiterates in India ?

(A) Bihar (B) Andhra Pradesh

(C) Odisha (D) Uttar Pradesh

Td | ferd <hi aaiferes e frm s d g 7
(A) fe=r (B) g Y  (C) 3Aifgsm (D) IR I

42. Which of the following is a pull factor that causes migration ?

(A) Unemployment (B) Hunger

(C) Starvation (D) Attraction of a city

11 4 9 1 91 99Telt e & TEeh Il Yae grar g ?

(A) sUSTTI (B) @ (C) weHd (D) T&T I TR
43. Which of the following religions is the last to appear on the scene of India ?

(A) Hinduism (B) Islam (C) Buddhism (D) Sikhism

T o H= W 370 § Johe gIF a1l 91 I A g shi g e ?
(A) fegad (B) 3=A™ (C) wig o (D) g o

44. Which of the following states in India has the maximum Christian
population ?

(A) Goa (B) Tamil Nadu (C) Kerala (D) Madhya Pradesh
g 4 fmr 5 9 form U= | wdiferes $91E SHEEAT ® 7
(A) e (B) dfteHTg (C) A (D) T YW
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45.

46.

47.

48.

49.

50.

51.

52.

The increasing concentration of carbon dioxide into the air causes
(A) global warming (B) acid rains

©) heat stroke (D) All of these

gal H hIeH SIS3THITSS <hl Sget |5l o HRUT BidT &

(A) dIfEH AU (B) A aui (C) amrETa (D) I8 |t

The best method of disposal of garbage is
(A) land filling (B) Vermlculture (C) burning (D) incineration
e b I i 399 TG

(A) gt w8 (B) dHfehe=rk  (C) ST (D) iR

Jet streams blows from

(A) Eastto West (B) West to East
(C) North to South (D) South to North
ECRRUCEO

(A) @Wauftem (B) uftamaqd (C) Smacham (D) cferorasm
Drift plains are formed by the action of
(A) Rivers (B) Glaciers (C) Winds (D) Waves
T foreeht T gra ffda € 7
(A) et (B) fewrei (C) wensit (D) <&l
Tsunamis are originated due to
(A) Seawaves (B) Earthquake (C) Hurricane (D) Rotation of the Earth

AT fohereh BT B & 7
(A) ¥ @E  (B) T (C) THH (D) 9% < HuH

The deepest ocean of the world is

(A) Atlantic Ocean (B) Arctic Ocean
(C) Indian Ocean (D) Pacific Ocean
forva 1 a8 T80 UEHFR 8

(A) IHTATTEH TEHRR (B) 3MTehideh HETETT
(C) T WREmR (D) 91T~ H3EM

How many members were initially there in the Constituent Assembly of
India ?

YT hi FfTE™ T H TR €9 § fohdw Te& 3 ?

(A) 300 (B) 302 (C) 304 (D) 306

The concept of Judicial Review in Indian Constitution has been taken from
the constitution of

(A) USA (B) Canada (C) UK (D) Australia
Gfaa™ § =ARieh Taeieh ol Gehed fhbeh AaaH H el 5 7 ?
(A) LW (B) FAEI (©) 7. (D) Jtegferan
9 Code No. : C-441/2018/Series-A
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S3.

54.

5S.

56.

57.

How does the Constitution of India describe India as ?
(A) A Federation of States & Union Territories

(B) A Union of States

(C) Bharatvarsh

(D) A Federated Nation

YT 1 TS YT bl hdl FTUTd ohidl & ?

(A) TAT 3R g -IEd e 1 &9 (B) Tl b1 9
(C) e (D) HoEg Ty

Which one of the following is Human Right as well as a Fundamental Right
under the Constitution of India ?

(A) Right to Housing (B) Right to Work

(C) Right to Information (D) Right to Education

1= 4 | =1 91 T g SAUHR o /1Y & 1Y IRA diag™ % e HifeTeh
AR R 7

(A) 3T T ARBR (B) T3 1 TR

(C) FIAT 1 HAfIHR (D) frer = 31

To be eligible for election as President of India, a person must have
completed the age of

(A) 25 years (B) 26 years (C) 30 years (D) 35 years

YT o YPUfd o &9 H g & I 84 o e wh =afts i 311y ot fepan
BT BT =M1T |

(A) 2599 (B) 264 (C) 3094 (D) 3599

Who was the Prime Minister of India when the Anti-Defection Bill was
passed ?

(A) Indira Gandhi (B) V.P. Singh

(C) Rajiv Gandhi (D) H.D. Deve Gowda

T - Torieht faderes uTitd fohe ST o |9e wRa o1 SaE ik o ¢

(A) sfenmet  (B) fid.fig  (C) wShamdi (D) w=.El. danier
Who calls the joint session of the two houses of the Parliament ?

(A) The President (B) The Prime Minister

(C) The Lok Sabha Speaker (D) The Vice President

GHE o QI TGl hl T 93 i FeITdl & ?

(A) Tgafa (B) gaHE (C) AT afie (D) 3U-Uydfa

58. The ﬁrst General Election in India was held in

WId H Yo 379 919 54

(A) 1950 (B) 1951 (C) 1952 (D) 1953
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59.

60.

61.

62.

63.

64.

65.

The first Indian state created on linguistic basis was

(A) Andhra Pradesh (B) Telangana
(C) Tamil Nadu (D) Karnataka
WTSTS TR R T gem are T o

(A) IFYICY  (B) oA (C) daftrerTg (D) HAleH

Who is the executive head of the State government ?

(A) The Chief Minister (B) The Governor
(C) The Chief Secretary (D) None of these
S Lh[{ bl °|'>|¢|°|'>|{I AH<E °|'>|"| SI(‘II % ?

(A) gewh (B) TsIue (C) yeaafa (D) $9H 9 s &l

The Speaker’s vote in the Lok Sabha is called

(A) Casting vote (B) Sound vote (C) Directvote (D) Indirect vote
ArREHT H TRt T 7d HeaTdl &
(A) o ma (B) @fvmd (C) Y@ @a (D) AYId Ta

Who established Shanti Niketan ?

(A) Jawahar Lal Nehru (B) Bal Gangadhar Tilak
(C) Ravindra Nath Tagore (D) Mahatma Gandhi
srifer Fehae feper werfua fepam 2

(A) AT ATA & (B) &1 TR faeres

(C) TergTa &R (D) werert meft

The Constitutional Status has been given to panchayats under which Article
of the Indian Constitution ?

YA |fare < fopa 31<0g o 1= U=Tadi ol HAefeh gl fean T g ?

(A) 143 (B) 223 (C) 243 (D) 343
Who was the first Deputy Prime Minister of India ?

(A) L.K. Advani (B) Morarji Desai

(C) Sardar Vallabhbhai Patel (D) Charan Singh

TR T TH IT-TEHA i o7 ?

(A) THA.h. TS0 (B) HRIGS <@TS

(C) WER IoAuTs Uee (D) =i fog

In which House of the Parliament, the presiding officer is not a member of
the house ?

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
gug o ford Ted H, Horiia i UeT 1 ae= &l gaT g 7
(A) rHg (B) TSI TN (C) fagmawm (D) faum ufe
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66. The Ninth Schedule to the Indian Constitution was added by

(A) First Amendment (B) Eighth Amendment
(C) Ninth Amendment (D) Forty second Amendment
W wferer o el srgeeh s mg
(A) TYH TN g (B) 31T3d TNEH gRI
(C) d GuneH gr (D) ST HINEA gRT
67. The basic parameters of India’s Foreign Policy were laid down by
(A) Dr. Rajendra Prasad (B) Dr. Radhakrishnan
(C) Jawahar Lal Nehru (D) Dr. Zakir Hussain
WL hi fergmr =if o go1 Tered fohdeh g W@ T & 7
(A) . Tolg 991G (B) Ef. TghoH
(C) aTE AT g® (D) . SRt g&d
68. Which sector of Indian Economy contributes largest to the Gross National
product ?
(A) Primary Sector (B) Secondary Sector
(C) Tertiary Sector (D) None of these
T 1 DI AT & Hebed UFIT IUTE T TTTeeh ANTEH <l & ?

(A) waf & (B) fgderem  (C) qdsh &3 (D) 90 4 hls a1
69. The %eriod of Plan Holiday in India was

A § ATSHT 3TahIST <hl iy oft

(A) 1962-65 (B) 1966-69 (C) 1969-72 (D) 1972-75
70. The state having the highest density of population is

(A) West Bengal (B) Tamil Nadu (C) Uttar Pradesh (D) Kerala
b ST Ydcd dTeAT TS

(A) UM ema (B) dftedrg (C) I (D) A

71. ONGC was set up in
ONGC & TJTIT e S ?

(A) 1956 (B) 1957 (C) 1959 (D) 1961
72. Which one of the following is not a constituent of Human Development
Index (HDI) ?
(A) Per capita Income (B) Life Expectancy at Birth
%‘C_g’ Gross Enrolment Rate . (D) Health and Nutrition
H Y hIF |1 T A forehrd gaehieh (HDI) 1 §ees T8l & ?
(A) i =3fth 3 (B) WH T Sfie S
(C) Fhet Teiia (D) &Y Tg WYl
73.  Who is known as Father of White Revolution in India ?
(A) M.S. Swaminathan (B) V. Kurien
(C) KN Bahal ] (D) B.P.Pal
A § YoId Shif=d o SIeh o &Y H fohll THT ST 8 7
(A) TH.TH. WHHTE (B) . i
(C) %.U4. 58 (D) st.d. 9t
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74.

75.

76.

77.

78.

79.

80.

81.

82.

Capital market regulator is

(A) RBI (B) IRDA (C) SEBI (D) NABARD
ISt ST Fmeh

(A) WA AE (B) IMEIMAT (C) &&A (D) mare

The Foreign Exchange Reserves of India are kept in the custody of

(A) World Bank (B) IMF (C (D) None of these
e <1 foresft fafrma fisrd fopmeht arfimen & war s 2

(A) fmasd®s  (B) MW (C) waﬁané (D) T8 T IS T

Which of the following is not a source of tax revenue collected by the
Government of India ?

(A) Custom Duty (B) Income Tax

(C) Serv1ce Duty (D) D1V1dends and Profits

7 o & i 91 WA TR g HIEId o S 1 91 T8l & 7

(A) @ yes  (B) IR (C) 9aTyesd (D) o 3R ey

WTO was formed in

WTO 61 T 53

(A) 1991 (B) 1993 (C) 1995 (D) 1996
Homogeneous product is a feature of

(A) Imperfect Market (B) Monopoly

©) Ohgopolé 3 (D) Perfect Competition
(A) AWETER  (B) THIFHR  (C) 3Ieulfoepr (D) qoi Hfamft

In the electric supply lines in India, which parameter is kept constant ?

(A) Current (B) Voltage (C) Power (D) Frequency
WRd | forea gl oreAi § fope J=rel ol fRR @ Sran g ¢

(A) o[ (B) dieed (C) wfh (D) I
Which waves are used in Sonography ?

(A) Microwaves (B) Sound waves

(C) Infrared waves (D) Ultrasonic waves

AT § for T o1 = TR STaT 8

(A) ggga@  (B) @fa@  (C) FOhadl (D) WAl aul

Who among the following received Nobel Prize twice for the same subject ?
(A) Marie Curie (B) Frederic Jolit

LC) Frederic San Stanley Cohen
HHﬁﬁl%Hd@%%ﬁlﬁ%maw%ﬁﬂ fopam 7
(A) B (B) el Sifete (C) ﬁ»—gﬁmﬁm (D) T i

Which one of the following is not a form of stored energy ?
(A) Nuclear energy (B) Potential energy

) Electrlcal energ (D) Chemical energy
@rér«l Sl HIETTRI B 7

(A) mﬁqﬁawﬁ B) fawst  (C) frEsst (D) WA S
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83. Which one of the following is the natural polymer ?

(A) Nylon (B) Teflon
(C) _Poly Vinyl Chlorlde (D) Cellulose
ﬁﬁﬁﬁﬁ?m@ STehiieh SgaTeh & ?

(A) TIAH (B) M
(C) et formaret Fetirge (D)

84. Which of the following elements is found in all organic compounds ?
(A) Carbon (B) Calcium (C) Nitrogen (D) Oxygen
71 o @ i a1 awa At Sfoes Aifireni § TR SIar g ¢
(A) A (B) Hfcaam (C) TEISH (D) ATeRISH

85. Which one of the following petroleum refinery products has the lowest
boiling point ?
(A) Lubricatingoil (B) Diesel (C) Gasoline (D) Kerosene
I ICITG, 1 SHYATH TaH HH BT & ?
(A) Hghdad  (B) SN (OIRICISIC] (D) UM

86. Which gland is associated with the production of lymphocytes and
antibodies ?
(A) Hypothalamus (B) Adrenal (C) Thymus (D) Thyroid
Tt TR formaTged 3R TEAETE o 3caTe 8 FrfRa g ?
(A) EEHSTmE (B) UAA (C) yr=m" (D) URRiES
87. Which of the vitamins is essential for the red blood cell formation ?
(A) Thiamine (B) Folicacid (C) Riboflavin (D) Niacin
AT Teh ShIRTeRTT o THT0T o foTu sl & HATEIh 8 7

(A) wrgfA (B) wifesh Uf¥fE (C) TeEwRifed (D) FamEA
88. Which one of the following animals is cold blooded ?

(A) Dolphin (B) Shark (C) Whale (D) Porpoise
=1 5 9 = | wroft sreHardt 7 ¢
(A) SfwT (B) W (C) = (D) T

89. Which of the following imparts yellow colour to urine in humans ?
(A) Bile salts  (B) Lymph (C) Cholesterol (D) Urochrome
71 W & S A | 7 3l HIel T IgH Hial & ?

A) Taean  (B) oo (C) Pt (D) Jh™

90. Saffron is obtained from which part of plants ?

(A) Leaf (B) Stem
(C) Stigma and Style (D) None of these
% fore w1 & wTe feRen ST B 7
(A) it (B)
(C) afdepmr 3R afde (D) ¥ ¥ IS &l
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91.

92.

93.

94.

95.

96.

97.

98.

99.

Which one of the following is termed as ‘Poor man’s Cow’ ?

(A) Sh (B) Buffal (C
ﬁwﬁ@% ﬂﬂaaﬁ%;aﬁuné’owm
(A) ¥ (B) Hw (©)

A computer cannot boot if it does not have the

(A) Compller (B) Loader (©)

Teh SHPRZL I ¢ a1 (hAT AT Hehdl Al ITH a1 o

(A) HHER  (B) WL (C)

The shape of a rain drop is spherical due to

(A) Viscosit (B) Surface tenswn (©)
ﬁagw Tl ATehT feheh ShRUT BT & 7
(A) AT (B) IBdE (©)
Sound travel fastest in
(A) Steel (B) Vacuum ©)
LEC KRG
(A) EAH (B) frafa#d (C)

The coil of an electric heater is made of

(A) alummlum (B) tungsten (©)
e Eet il HIEe . g ?
(A) TgffEm (B) T (©)

Chlorine 1s mixed in water so that
(A) Dirt is removed

(C) Bacteria are killed

i | FArH e Sirar 8 fSeehs R

(B)
(D)

(A) Tt A F | (B)

(C) SFfET WA E | (D)

Ascorbic acid is a/an

(A) Amino acid (B) Enzyme (©)
Tfeieh Tfers @

(A) Wit (B) T~ieH (©)

Anthrax is caused by

(A) Virus QB) Bacteria ©)
e (Freadt-T) fordeh RUT BT 2 ?
(A) fommoy (B) framy ©)
Penicillin is isolated from

A) Fungi B) Virus C
ﬁﬁﬁr%ﬁ( ) %ﬁwagé)m%? ©
(A) PR (B) fersmy (©)

15

Goat (D)
sl (D)
Assembler (D)
THFITR (D)
Elasticity (D)
TR (D)
Air (D)
SR (D)
nichrome (D)
EIEERE (D)

Water is cleaned
None of these

I ET6 BT R |
0 T 1 TE

Protein

A

(D)
(D)

Mycoplasma (D)

AR T (D)
Bacteria (D)
Sfamy (D)

None of these
ST & IS TE
Operating system
AT freew
Gravitation

ey

Water
JAH

None of these

ST © IS TE

Vitamin
IERIEE]

Algae
NEI|

Algae
NEI]
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100.

101.

102.

103.

104.

105S.

Which of the following is not a kharif crop ?
(A) Cotton (B) Mustard (C) Groundnut (D) Maize
71 5 9 %M o @l wEd T8 3§ ?

(A) HUH (B) @& (C) Hirehet (D) e

As ‘Doctor’ is related to ‘Patient’ in the same way ‘Lawyer’ is related to
(A) Customer (B) Criminal (C) Magistrate (D) Client
o= yepR “gieet’ grfa g Tl 9, 3H YR ‘gehia’ forug gfRa g ?
(A) TTEh (B) 3t (C) &z (D) Halera

If English alphabet is written in backward order, then what will be the 13"

letter to the left of the 3" letter from right ? . . ’

Ife TUST THTAT Bl IS shH | Torgm S 8, O < § ol 3781 & 919 aigal

& A |18 ?

(A) P (B) N € R D) Q

How many meaningful English words can be made with ‘EPRY’ using each

letter only once in each word ?

(A) One _ (B) Two (C) Three (D) More than four

Tk Yee H Yk amw%ﬂ@wmﬁﬂ?ﬂﬁgﬁ ‘EPRY’ @ feha a1eiuu

TS 316¢ T AT Tl & 7

(A) Th (B) (C) o= (D) =R ¥ Afeh

If CUP = 40, then KITE is equal to

afg CUP = 40, @ KITE fereeh sTst 2 ?

(A) 35 (B) 40 (C) 45 (D) 50

If 1% October is a Sunday, then 1% November will be

(A) Monday (B) Tuesday (C) Wednesday (D) Thursday
TR TS AR 7, 1 Taei! FaFa g

(A) FFER (B) HIER (C) §9aR (D) &R

106. Moni is daughter of Sheela, Sheela is wife of my wife’s brother. How Moni
is related to my wife ?
(A) Cousin (B) Niece Sister (D) Slster -in-law
A, s B 9 @ |5ﬁwﬁﬂq?-l°f%m‘s‘ﬁqc—vl°f% | AT T It § fohE TR
TR & 7
(A) A (B) WISt (C) s (D) W+t

107. A man walks 6 km south, turns left and walks 4 km, again turns left and
walks 5 km. Which direction is he facing now ?
(A) North (B) South (C) West (D) East
Teh AT 6 Tohrt gféqor it 37 =reran 8, I gedt & 37 4 fort 9etar 3, b @ 9
T 2 3 5 Fhtlt <reie & | 31 a8 fobw foe b e & 7
(A) I (B) gfam (C) ofe=m (D)
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108.

109.

110.

111.

112.

113.

114.

What will be the angle between hour hand and minute hand, if clock shows

8:30 pm ?

%ﬁm‘a@ 8:30 pm T &, T 90 hT FE R e I T < &= 0T TehaT
?

(A) 60° (B) 75° (C) 90° (D) 120°

Nikhil is 8 year younger than his brother Rohan. How old will Rohan be

when he is twice as old as Nikhil ?

(A) 4 year (B) 6 year (C) 8year (D) 16 year

FRaet 319 TS T & 8 99 BIT ¢ | U b a9 &1 B 519 a8 Hiaat <t 311y

© QAT 8T 7

(A) 499 (B) 6ad (C) 8a§ (D) l6=d

How many odd numbered pages are there in a book of 1089 pages ?

1089 Ut ST Teh Titeh B T T o1et U o & 7

(A) 542 (B) 545 (C) 544 (D) 546

Which Indian — origin scientist has launched the World’s first micro factory
to help tackle e-waste hazard ?

(A) Subhash Khot (B) Veena Sahajwalla

(C) Krishna Chatterjee (D) Yadvinder Malhi

$-3TURTE Hehe © Fued § wgrar o foru fava i gom Argsh! Shaedl forg W™
A o AT 5 T Hhi 7 ?

(A) gaN @R (B) dM1EsSEn (C) oMt (D) ATglot Aleal

Which IIT has installed India’s first 5G radio laboratory ?
(A) IIT—Delhi (B) IIT —Mumbai (C) IIT —Indore (D) IIT — Roorkee
fopm IIT 3 v <l veelt 5G e sl wonfuq i g 7

(A) NT-feeeft (B) NT-g=s (C) NT-3<R (D) T —&gehi
What is the theme of the 2018 National Safe Motherhood ?

(A) Safe Motherhood (B) Care for Child

(C) Aware for Safe Motherhood (D) Respectful Maternity Care
2018 TE FUlera AT i ffm g 7

(A) % Hegs (B) W B TT5eS

(C) 3T HBI A% HETgS (D) fraedet A et R

India’s first high-speed electric locomotive has been flagged off recently
from which state ?

(A) Bihar (B) Maharashtra (C) Uttar Pradesh (D) Assam
YA <1 Tgetl I -1 Tod SoH Te1 &1 | fohd T | =t T 7
(A) foEr (B) WeRrg (C) Wy (D) %A
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115. The Joint Military Exercise ‘Desert Tiger 5° was held between UAE and
which country ?
(A) Malaysia _(B) Vietnam (C) Indonesia (D) Denmark
Y T AT S TR 5° TS 37 Fohe 21 <h s T7a 53T 7
(A) R (B) T (C) 3weHRm@r (D) SHTh

116. India’s first helicopter — taxi service has launched in which city ?
(A) Bengaluru (B) Kochi (C)_ New Delhi (D) Kolkata
Wl sl W eellehieet dorell |ferd fop Tt H Y& eI TS @ 7
(A) TI& (B) hI=it (C) Tleeeht (D) =hictehran

117. The 29" edition of the world famous International Yoga Festival (IYF -
2018) was held in which Indian State ?
(A) Uttar Pradesh(B) Uttarakhand (C) Jharkhand (D) Madhya Pradesh
forea witg =g A weteed (IYF-2018) 1 2991 H&RT I o [h8 T
H HOE g3 ?
(A) SIS  (B) IwW@re  (C) ¥REUS (D) HE Q¥

118. Which country will become the world’s first country to issue digital legal
tender “Sovereign” ?
(A) Kiribati (B) Fiji
(C) Marshall Islands (D) Nauru
%m <1 fesfteat offret dvet ‘wiafd’ I &t a1an fava 1 ugelm <o A
?
(A) Terlert (B) Tt (C) AR AEAUE (D) A&

119. Which platform has been launched by the Union government on the
occasion of 2018 International Women’s Day ?
(A) Women Entrepreneurship Platform
(B) Women Combat Platform
(C) Women Power Platform
(D) Women Literacy Platform
2018 I=AUET HlgaAT fead o EE W g, TR I DI T IehH T
Mg ?
(A) Tfgen 3enft wewd (B) Hfgetl Toy wiehid
(C) ufge ol wiewd (D) HfEAT ATRAT WIeh

v
[

120. Who has become the first Indian woman from the field of law and justice to
be conferred the ‘Nari Shakti Puraskar’ ?
(A) Fathima Beevi (B) Sujata Manohar
(C) Gyan Sudha Mishra (D) Gita Mittal
%$a§:r =TT < &F § T Wtk BRI F TaTsl S aTell WRA i T2 Higal
)
(A) wifm st (B) oI (C) I gatfusn (D) an firae

Code No. : C-441/2018/Series-A 18

https://snowstudy.in



121. Who has become the first woman officer to be inducted as the first direct —
entry combat officer in Indo — Tibetan Border Police (ITBP) ?
(A) Prakriti (B) Geetanjali (C) Radhika (D) Sudha
~forssraa &t gferd (ITBP) YoM SRR U= shirale 3TifheR o &9 | gy
B areft gy Afger SheR siF o+ ?

(A) TFfd (B) Tamwet  (C) i (D) g

122. Anjum Moudgil is associated with which sports ?
(A) Tennis (B) Badminton (C) Shooting (D) Boxing
I HighTet fohe @t @ TafRa g 7
(A) <fE (B) sefuedr  (C) FmmeEmi (D) wehaTS

123. The first ever Indo — French knowledge summit was held in which city ?
(A) Goa _ (B) Puducherry (C) Mumbai (D) New Delhi
T2 3UEI-Thd T RTER T e fohd I8t § SRISa gt o ¢

(A) (B) g (©) T (D) 78 fewett
124. Which Indian city hosted the International Association of Chiefs of Police
(IACP —2018) ?
(A) Kolkata (B) Ajmer (C) New Delhi (D) Bhopal
YA ITET A FUSHINS THITHUIH AT o 3AT% gferd (JACP-2018) i
HSETH T ?
(A) deh@r  (B) IR (C) T feeett (D) WUTA

125. Who has been named as the ‘Cricketer of the Year’ in the 6" edition of
Wisden India Almanac 2018 ?
(A) Suresh Raina (B) M.S. Dhoni (C) Virat Kohli (D) K.L.Rahul
forste 3fusan 3meda® 2018 % ©3 TERU T fhd “forehet 31T% € 3 § ATfd
[EIRICIN
(A) G (B) W.TH. gl (C) frewEelt (D) *.Td. TgA

126. Who has been recently nominated as the India’s representative to Executive
Board of UNESCO ?

(A) J.S. Rajput (B) RaV1sh Kumar(C) Suraj Gupta (D) Priyank Sen
%L;Tﬁﬁ fShel TeT &1 | YTkl o HRIBHI AUSHA H YR o UfdTIR & &9 H TG
T 7

(A) J.T9. T9Yq (B) TewI$AR  (C) & T (D) T o=

127. Who has been sworn-in as the new President of Peru ?

(A) Marisol Espinoza (B) Mercedes Araoz
(C) Martin Vizcarra (D) Pablo Kuczynski
U% o 43 TPAfd < &9 § fohe o2 ot ?
(A) Bige Tfersn (B) WSS 1A
(C) mfea fersrehtr (D) dTsetl HicTHehl
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128. The Satluj river enters H.P. from Tibet at
(A) Rohtang (B) Shipki (C) MakoriJot (D) None of these
Facls ¢! foesa o feuTeret o erwT shid
(A) Tgamda  (B) BwRi (C) HHAT@E (D) 38 U His T&l

129. The ‘Surajtal’ lake is located in which district of H.P. ?
(A) Lahaul & Spiti (B) Shimla
(C) Kmnaur (D) Mandi
T feHra m%%&ﬁﬁﬁ@m% ?
(A) <Ee-farfa (B) fmen (C) TraR (D) HuE

130. Himachal Day is observed every year on
(A) 25January (B) 15 April (C) 1 September (D) 1 November
fewmee EEIRIRSIGIE

(A) 2599l (B) 1530 (C) 1faa=r (D) 19am=R
131. The rainiest place of H.P. is

(A) Jutog (B) Bhoran;j (C) Dadhol (D) Dharamshala
TCET o HATTYeh 91 aTell ¥ 8
(A) eI (B) WRS (C) ==& (D) gt
132. Which one of the following districts does not fall in the ‘New Himachal’ ?
(A) Chamba (B) Kullu  (C) Lahaul-Spiti (D) Kangra
f | whie & foren 3 femmaer’ o =i s ® v .
(A) = (B) %] (C) wme-ferfa (D) st

133. Naina Devi hills are located in
(A) Bilaspur (B) Hamirpur  (C) Kangra (D) Una
ot ugTeat feva 8

(A) femqd  B) wwd  (©) wed (D) i
134. Chandrakhani pass is located in which district of H.P. ?

(A) Kullu (B) Chamba (C) Kinnaur (D) Sirmaur
Tzl gl ferrae yem & fra e d e & 2
(A) Fee| (B) = (C) foraR (D) &R

135. Jogini Waterfall is located in
(A) Manali (B) Mandi (C) Summer hill (D) Sundernagar
ST 3T fera

(A) wAeld (B) wWoElH (C) ¥RiEaH (D) &R H
136. Which of the following was the oldest princely state of H.P. ?
(A) Trigarta (B) Kuluta (C) Hindur (D) Suket
1 HaH I Rt T A H g wE e ?
() frd (B) P ©) feg (D) gk
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137.

138.

139.

140.

141.

142.

143.

144.

145.

Who was supposed to be the first King of the Kinnar ?

(A) Parikshit (B) Praduman (C) Pipru (D) Arjunya
bl TP ST <hF HIET SIIAT AT 7

(A) vl (B) W (©) fouw (D) 3T

Who founded the ruling dynasty of Hindur ?

(A) Jaskaran Chand (B) Ahl Chand

(C) Kahl Chand (D) Ajit Chand

f&=GL o STTEh SIRT ShT HEYTIH i AT ?
(A) SERUE<S (B) 3EAT< (C) Headd< (D) A=<

‘Rang Mahal of Bilaspur’ was constructed during the reign of

(A) Hari Chand (B) Kabir Chand (C) Suhag Chand (D) Bijai Chand
“foretraqt = TTaEa’ o1 fuior foheeh STTEAehIeT & I B3 T 7

(A) Bl (B) ®dfie  (C) Ferma (D) fovemw

The capital of the Kutlehar State was at
(A) Talhati (B) Paprola (C) Kot-Kahlur (D) Chauki

PecTel TS hi Tgr off

(A) qEEd (B) ST (C) HRe-HeeR® (D) =whi

Where was Indo — Pak Shimla Agreement (1972) concluded ?
(A) Bames Court (B) Peterhoff  (C) Boileauganj (D) The Retreat
WA -TTeh AT FHEiaT (1972) el 9V 37T o7 ?

(A) SE®LE  (B) He@E® (C) Sigeams (D) <fdie

When was the Sirmaur Praja Mandal founded ?

Tt T HUge 6t TATOHT e T8 7

(A) 1939 (B) 1923 (C) 1936 (D) 1942

Who headed the Himalayan Prant Provisional government set up in 1948 ?
(A) Dr.Y.S. Parmar (B) Ram Lal

(C) Bhaskara Nand (D Shiva Nand Ramaul

1948 T wfud feaTer yr=d MifesHe TeHn-e shi sreerdn fohaa 6t ?

(A) Sf. 99.TH. WAR (B) THATA

(C) YR A< (D) Tram= Wi

Riwalsar is the birth place of

(A) Raja Preekshit (B) Hidimba

(C) Guru Gobind Singh (D) Padamsambhava

|{°||C’|H{ IchHebl SieH W% )
(A) Tndfaa (B) %%m (C) T& Tifs f&g (D) derama

Temple of Bagulamukhi is located near

(A) Dehra (B) Una (C) Arki (D) Nahan
o1 gfet fordeh Tifig i & 7
(A) <& (B) 1 (C) 3Tht (D) A&
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146. The Gaddis are

(A) Monogamous (B) Polygamous
(C) Polyandrous (D) None of these
TE B &

(A) UHfqaEl  (B) wgfa@  (C) wgufeen (D) 398 8 1S Tl

147. Arki School of Paintings flourished in the princely state of

(A) Bajji (B) Bhagat (C) Jubbal (D) Bhagal

ferarehett st 37eh! At formr framad Tsor TG 8 7

(A) wfs (B) wTd (C) S5 (D) YT
148. Which district of H.P. is famous for salt mines ?

(A) Kangra (B) Solan (C) Mandi (D) Kullu

Teum=ret Wewt =1 s |1 fSe T8 <l wHl o fqu afag @ 2

(A) TSI (B) dHieW (C) Tug (D) ool
149. Great Himalayan National Park is located in which district of H.P. ?

(A) Solan (B) Mandi

(C) Lahaul & Spiti (D) Kullu

Te T J3et Ireh feam=el Jew o forg e A fa 8 7

(A) FreH (B) wugl (C) wE-fafa (D) Feel

150. In which year Nathpa — Jhakri hydel project was launched ?
YIRSt TS fohe o IRew 58 7
(A) 1988 (B) 1991 (C) 1994 (D) 1995

Directions (Q. Nos. 151 — 155) : Choose the most appropriate word out of the
four given options A, B, C and D to fill in the blank.

151. Can I stay the week end ?

(A) until (B) by (C) for (D) off
152. You are very patient me.

(A) towards (B) to (C) for (D) with
153. Let’s try to agree a date.

(A) with (B) about (C) on (D) to
154. The tyre of a moving car presses the road.

(A) at (B) on (C) against (D) beside
155. We should abide the same law of land.

(A) under (B) to (C) by (D) before
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Directions (Q. Nos. 156 to 160) : Choose the word out of the given options A, B,
C and D which is oppeosite in meaning to the given word.

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Clergy

(A) Clerk (B) Priest ©)

Vulgar

(A) Simple (B) Restrained (C)

Abhorrence

(A) apprehension (B) aversion ©)

Infringe

(A) keep (B) break ©)

Majestic

(A) august (B) sublime ©)

“feptor’ <h1 qatraT=R B

(A) 37 (B) R (©)

EIR-CIERCI kA R o

(A) =& (B) g (©)

‘3TFA T TAT TR T Y 7

A) gfgam  (B) AT (O)

Hq + Al H gy g

(A) FAI=< (B) #I3=< ©)

G I 8

(A) FraEIRE (B) 3Tgfh (©)

‘gt <1 forsiwor 2

(A) T B) gt (©)

‘DL’ T AT &

(A) TYH B) H (©)

AI-a9 T qHE §

(A) wEshife (B) dcqey (©)

| G @

(A) oo (B) o ©)

T’ Ul T IAN TIH 7

(A) 3 (B) dre (©)
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Laity (D)
Retired (D)
appreciation (D)
violate (D)
regal (D)
RN (D)
G (D)
FaFT (D)
TR (D)
A (D)
SIBE] (D)
aren (D)
FFfE (D)
EELd (D)
g (D)

Church attendent
Graceful

liking

trespass

paltry
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